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X-Bin(n,p)
nombertimes are eventrepeated

n times is true,
witheach event true up. P.
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X rBin(n,p]
for (=0, 1, 2, ...,n3
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- b

z[0,1]

ExCtal 1(50,1, ..., n) fx(k)=0

pR=prob. I events all true:1
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Geometric Random Variables
-

X - Geo(p)

fx(k) =(1 - p(*-. p (Fx(k)
- 11xinthe

Eventwith prob p of success

[to chances I success

and success comes at end.

probe ittakes isevents
until the first success.



#parameters
n =number of tricks

Bin bea

12 = number of successes or first soccess

P:Probabilit of success


